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MATHEMATICS By Pradeep Sir

& — loust aliget Q. 1) Which number among 24963, 24973,
- 24983 and 24993 is divisible by 7?
319 - @I}f&l.(w) L —=
Frafafa 7 ¥ #19-0t "= 7 3 vrsa 82
“ — LQA'E o? 0‘4}«'(_- (a) 24973 \ Yy
&g v
Q6¢s 2 ,
? 8!
5 o bt i € /O () 24963
(d) 24993 | + 10 +\0 4o
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Q. 2) Which of the following numbers is
divisible by 36?

fFrafafea & & $19-30 W@ 36 | Rursa &2
(a) 47502 A

© i

(c) 4732 - 3

(d) fio > 25 =1
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Cp= 2000 +1Q060 Q. 3) The percentage profit earned by selling
X} —2 an article for Rs. 2,000 is the same as the
percentage loss incurred by selling‘ the same
CP > 30‘; — 3 léoo article for Rs. 1,200. At what price should that
article be sold to make a profit of 20%?
ggnl2e UP a9 DI Rs. 2,000 H 991 W 3ffoia yfazra
I ATH 3T IFG BT Rs. 1,200 H 391 W g3 ufawa
1920 ® B & TIER 81 20% BT ATH U B4 & forg
8 ﬁw) 39 9% &I [P0 Hed WX 991 91 91iee?

(a) Rs. 2,000 (b) Rs. 1,800

(c) Rs. 1,920 (d) Rs. 1,840
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S' DEENALERE A:t? Q. 4) The difference (in Rs.) between a
discount of 35% on Rs. 3,600 and two
- = successive discounts of 30% and 5% on the
@‘ 35, %y same amount is:

<y 22_% Rs.i@gwss%aﬁazahvsﬁﬁwso%
— 3R 5% B! 3t B Pl & 91 BT 3ia? (Rs. H)

- iﬂa'ﬂﬁl 00

w\*;; = (b) 787 2(3

(c) 82 (d) 52 X
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MATHEMATICS By Pradeep Sir
N

Q.5)1f405:y::y:125 and y > 0, then find
the value ofy
uﬁﬂos Ly 1253h'\’y>0 dl y &1 99 91
aﬂf%fm
(c) 215 (d) 235

52 - Yos %\ 3

J* ]“\03'1\\&\ TRE%S
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Q. 6) In a factory, 48% of the number of male
workers is equal to two&third of the number
of female workers. What is the ratio of the
number of males to that of the females in the

factory?

TS PR H, [3Y 40D S BT BT 48%,
afear 4ffrel #t B & 3-fags & e gl
PREM # qFul B GBI &1 Afgansit # G=n
Joqua e d?

(a) 25:12 (b) 12:25

(© 18:25
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Q. 7) The cost of 32 pens and 12 pencils is Rs.
790. What is the total cost (in Rs.) of 8 pens

é{% Pms + !L;i” Wc,‘z_;m and 3 pencils together?
1 25 U4Y 3R 12 TRyET BT G Rs. 790 1 8 T 3R

8 Pea +3pe - 7191 3 URTEl &1 A I (Rs. ) fHa=n gm

~R (a) 200.5
A

(c) 180.5

(d) 220.5
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i H Q. 8) If two qualities of pulses 'X' and 'Y’ of

v b prices Rs. 100 and Rs. 150 per kg are mixed in

(00 R 150 the ratio 7: 20, then what is the price (in Rs.) of
> 20 this mixture of Eulses (correct to the nearest

Rupee)?

TO0RS 4 Zq00f q%RS’.__l(_)OGmR&150mkgWaTﬁ3:‘
N UBR BI el ‘X' 3R 'Y B 7: 20 F U |

> 3?—00_‘3‘}‘ ﬁamﬁm%.aﬁzwﬁ$swﬁf/mmuﬁkg

= U (Rs. H) (Mdecad U8 a Hel) T8

(c) 134 (d) 136

A
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Ls A = 5D Q. 9) Amar can complete a work in 15 days,

and Prem in 12 days. Starting with Amar, they

557 -5 1492 Lcm Co work on alternate days. In how many days will
the work be completed?

H ‘Lg—J_e_}_’;—)_A:J"E——? 3R P rd &t 15 &1 # ok 9w 12 =1 A

quf R AHaT g1 HWR F ARY HId §¢ 4
A — 9 e 1 § #rd ovd g1 o1 fan et o

180 — 5y B3y igSmEmw

Y
o 6)»7 (a) 132 (b) 122
e 2- 5 6

)

(c) 13 CIRE!
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3- A - Lo Q. 10) A and B alone can do a piece of work in

4 and S days, respectively. In how many days

hW— 8-> 32
will the work be com& pleted, if they both

ug/ cf 8] ale ﬂ\, work on alternate days, starting with B?

9 TuTqTg 34--—Aaﬁzsmwwﬁmz4aﬁ9fiﬂ’fﬁ
= R R 994 g1 afe F 341 B F Y& P 8¢
L - qwiat Rt & o wea &, @ rd Reer Rt
hs 2 R ER?

> oy (@52 (b) 5

R S
43 /%)“ﬁ GEE (d) 5~
(S~ —
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Raja + K"‘ka = 52 Q. 11) Raja and Rocky together can complete
painting work in 5 days. Together they both
R +8k = = start painting, but after 2 days, Rocky falls sick
5 and leaves the work. If Raja completes the
remaining painting in 4 days, find the number
fag — 32 =yo of days in which Rocky alone can do the work.
> LT SR Y Frreras e @1 1 5 fA & T
Ry — Ko aﬂméléﬁﬁwﬁﬁﬂmmu
3 '3‘ 2 f&1 are, et AR
K@ e 81 afg ren Ay
Ys 5+ Kk — S f%q’fﬁﬁglm% a’rwaﬁa{ﬁwmaﬁ
2 # R HY GFHdl &
> =22 m a) 12 days (b) 15 days
R Al
k\

T34
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Q. 12) A and B can do a piece of work in 5 days and 10
days, respectively. They began the work together but
A left after some days and B finished the remaining

work in 8 days. After how many days did A leave?
A 3R B pHY: 5 f&=1 3R 10 R & v &1d &7 9oa

B - Ixego - 8  %I3%H P Y B AT L (HAl, AP A A FO
| 2 fREiFaesdosRumeRpAduasd o fRAid
A - ) U $R {4411 A A faa i1 & 91¢ & s
-_— )
>y

(a) 3% (b) 5%

© 63
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D=SrT, T= -s-'-’-’- 5= D

s

T Q. 13) A policeman follows a thief who is 600 m

k afh ﬂ_:é'g Mex {Sﬂc ahead of the policeman. If the policeman and the
thief run at speeds of 10 km/hr and 8 km/hr,
respectively, in how much time in minutes), will the

{ISQ( A ‘8 km“fv

policeman catch the thief?

TS gRoedl Us IR &1 9eT Sl § & gieraedl
¥ 600 H 3t 71 afe yferwedf ik IR Hw=: 10
i km/hr 3R 8 km/hr ! I19 & dted &, @ gferasdf
T2 2\ Y 1§ iR e ) A R 9 v A

R 3 ORE (b) 14

CRE:

P = €00 M\
R< o dwml h
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Q. 14) To go a distance of 144 km upstream, a
rower takes 12 hours while it takes her only 9
hours to row the same distance downstream.

What is the speed of the stream? IR 31

faudta fg=m 7 144 et ot & a9 1 & feorg,
TP A1d® B 12 4 T § Sdip 39 URT $i
fe=m # Ia-t gt g’ 99 B § Paw 9 U T
2| YRT B FT1 82

O
EVELGUTL] (b) 1 km/hr

(© 15
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@wa- a 46 +3+.?(~s+b¢+<«9 Q.16)If (a+b+c)=19 and (a? + b? + ¢?) =
@) Tes TR (ah+reitad 155, find the value of (a — b)? + (b — ¢)? + (c —
Abtbeta= B6I-1SE 94¢ Q). ‘
S = 103 afg (a+ b +c) = 19 3R (a2 +b2+C2)—155%
A (a—b)? + (b— ©) + (c — a)? BT A JIa X
(q,b)_/.(b-—c)-r(( ‘L)-—\-C(q b +C - au:+
A(1ss- )0‘6) (b) 108
2 (52 (c) 100

a1y Ay (D)8

}
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Q. 17) if secO + tan 8 = 5, then find the value

of tan 6.
gfe secO + tan6 = 5 ©, dl tan 6 BT HH JTd

©-tma- L
po- 2 P |
(a) 5/12

t = 5- 2
dtamd= 5- 4 (b) 13/5
Atomo = *_i"s. b (c) 13/3
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% "= (a+b)(a-b)

- c*
(C 05eCo 4 (ot®) ( CoSc -
)

e
(psec ©® —Cptl0= |

b
Cot ®)

Q. 18) The value of (

1
sin 6

1 1 1
(sin ) + tan B) (sin 6

(a) 0
(b) 2

tan @

+

1
tan @

)(

1
sin @

- )iS‘
tan 6 >

L )muﬁmzﬁm
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SIMA = : , _t o Q. 20) If sin A = -3/5, A lies in lll quadrant, the
> value of sec A is:
Bia= 4 afe sin A = - 3/5 8, A gaiig agui & Rya g,
sec A BT HI- &1 8?2
(a)-4/5 O ko
T | ¢
AL | e
Cons
(c)-3/4 30 W A0
(d) 3/4 (€]}
St t('os ﬂ '(“'\
ke O
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Q. 21) If the areas of two similar triangles are
in the ratio 196 : 625, what would be the ratio

of the corresponding sides?

( afe 3t yuwy FArysl & Sl BT SFuTd 196 :
196 s 6258, df WA Yer3it BT U T §I?
e WG Gas
(b) 13 : 20
) (¢ £S5
L r— (c) 14 : 20

Iy - &5 [N
f \ . (d)13:25
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Q. 22) The ratio of the length of each equal
side and the third side of an isosceles triangle

is 3:5. If the area of triangle is 30v/11 cm?, then
the length of the third side (irf cm) is:

o g BYS P Ud® JHE Yol Pl dd1g
3R gma‘i:ﬁmmm&s | g BAys
BT SABE 30V11 cm? B, O AR YOIl DI daTS
@+ 7)) = gt

(a) 10V6

OERG

GRERG

(d) 1176
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(o
(A o
16
P —9\3\0\ = 4&cwm
Qzlecm

—_—=

Aros= TS Sl = J3,

4 e

Q. 23) The perimeter of an equilateral triangle
is 48 cm. Find its area (in cm?).

gHarg Ays &1 uug 48 I 81 sH@T
gm(cm’ﬁ)maﬂﬁml

(a) 813
(b) 83

c) 253
(d) 643

1SN
Cylz
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Q. 24) In a factory, utensils are manufactured in three
plants, A, B and C. How many plates are manufactured by

plant B is total plates are 3260?
aﬁ%mﬁnﬁm?ﬂqm (plants) A, B 3R ¢ H

gmm%l afe FAfifa @S #t o 9@ 3260 €, a9t S9F
(plant) B gRT fra=it el &1 frar Srar 82

Shares in manufacturing - o &7 fgwan

Bowl - BRI Spoons - 9
Plates - @¢ Glass -
(a) 1467 (RE{

(c) 1254 (d) 1141
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Q. 25) Study the following bar chart and
answer the question. ﬁ'qﬁrf%a gUS 3G &I

A DT 3T WY BT I SIferg|

Find the percentage increase of sales of XYZ
phones from 2019 to 2020? (Rounded upto 2
decimal Elaces) 2019 ¥ 2020 TP XYZ BIH I

fast | ITd BIfoIE?

(b) 110.11%
(c) 119.19% (d) 121.89%




